
Proper mounting, demounting and balancing of truck and bus tyres are crucial for maximizing their performance, 
safety and lifespan. Incorrect  mounting and demounting practices can cause damage to tyres, vehicle and/or 
people. Therefore, it is imperative that these procedures are completed by trained personnel with the appropriate 
equipment. Incorrect wheel balancing can have consequences for your safety and the life of your tyres, resulting in 
avoidable costs. This TECH TALK will delve into BEST PRACTICES for tyre mounting and demounting also  exploring 
wheel balancing,  its mechanics, causes and Influencing Factors.

What is balancing ? 
A mounted assembly in rotation can attain a speed of 
1800 revolutions per min in passenger car and 600 
revolutions per min in truck tyres..
 Each particle of material of this mounted assembly is 
submitted to a centrifugal force.
 Let us take a perfectly mounted assembly,  whose 
masses are symmetrically distributed around the 
rotation axis.
In rotation, the centrifugal force on each particle is 
balanced by the force on the particle directly opposite it.
 As the mounted assembly is symmetrical, the 
centrifugal forces compensate themselves 2 to 2 and 
their result is nul. 
We say that the mounted assembly is  balanced.
In most mounted assemblies, the mass isn’t perfectly 
balanced, so the centrifugal forces don’t compensate.
The mounted assemblies are not balanced. 
The unbalance of (tyre + wheel) assemblies has several 
origins:
The unbalance  of the components (tyre, wheel, valve).
The out-of-round (run-out of wheel, tyre)
The mounting effect due to the more or less correct 
positioning of the tyre on the wheel .
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What do we call  mountability ?
• Among the criteria characterizing mountability is :
• It’s capacity to assemble itself to the rim.
• It’s capacity to take the pressure.
• It’s capacity to clear the rim humps.
• It’s capacity to place itself correctly on the rim seats.
• It’s capacity to dismount from the rim.
• It’s capacity to retain air pressure.

For a tyre to perform properly, it must be 
mounted on the correct wheel size.

Why balance ? 
An observation:
Modern vehicles are increasingly lighter. 
The sensitivity of vehicles to  vibrations and 
thus to unbalance are found to be increased. 
Since the (tyre + wheel) assemblies by 
construction do not have a low enough level of 
unbalance, it is necessary to balance them.
By balancing we reduce:

- the effects of various vehicle components
and the suspension

- the vibrations of the vehicle which  increases
the ride comfort. 

STATIC       COUPLE 
Unbalance     Unbalance

Vertical 

Vibration 

Vertical and 

horizontal 

vibration.



AIM B2B Customer Engineering Support Classification D3 Retention-R5    Page- 2 of 8



AIM B2B Customer Engineering Support Classification D3   Retention-R5   Page- 3 of 8



AIM B2B Customer Engineering Support Classification D3   Retention-R5   Page- 4 of 8



AIM B2B Customer Engineering Support Classification D3   Retention-R5   Page- 5 of 8



AIM B2B Customer Engineering Support Classification D3   Retention-R5   Page- 6 of 8

This action must be completed by trained staff using proper equipment. Improper 
installation can damage the tyre (which may not be visible at the time of installation), the 
inner tube or the wheel.

Cold tyre inflation pressure must be set in accordance with the load, speed and usage 
conditions.

Michelin recommends that tyres are inflated using an “inflation cage.”

Inflation must be carried out in two stages:

First stage:
• Pre-inflate to 22 psi (1.5 bar).
• Examine the tyre, if in doubt stop and call a specialist.

Second Stage:
• Inflate to the correct pressure.
• Place the tyre vertically in the inflation cage or in a prepared area.

During inflation, position yourself in line with the tread at least 10 feet (3 meters) away.
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Never use a duckbill hammer to mount tubeless truck tyres, as this is the number one cause 

of bead damages.

When removing any tyre from a wheel you should use an Impact Bead Breaker (Slide 
Hammer) to prevent bead damage. This is also a safer way to dislodge the tyre beads from 
the wheel. 
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